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« 1995 . WHHM FE
1998 : Yahoo! —> Google
e 2004 : I —> web2.0
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Qanswersx()score
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(log,Quicws)x 4+ + sum(Ascores)

e Reddit / Quora / Stack Overflow

e facebook newsfeed @ 2006

20127F

» SHEEHIREE (47@2012.11.14)
» DMERERT R EERMAE (=) . HEHE (35@2012.10.16)

THIHTE Y (101@2012.00.24)

- ETHPAHBZERHREE G5 . WIHHFY) (24@2012.03.28)
= ETHAEERT
- ETHPBZERHFREE () . FeHFEE (20@2012.03.16)
» ETHPBERHIEEE (=) ;. Stack Overflow (20@2012.03.11)
» ETHPBREMHESE (Z) . Reddit (33@2012.03.07)

NHacker News (37@2012.02.24)

EhE (8] (41@2012.03.20)




I HARKFHIMT: BHAE + &% rank

o BT
« for (item in all items):
e« score = score func(item)
o  “UPDATE item SET score = %d” % score
o TELEH

e “SELECT item id FROM item ORDER BY score”
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e Google PageRank, Z=& ¥
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I HARKFHIMT: BHAE + &% rank

e Map—reduce / MPI: HEPFEiEARCITHE
o (LTI

“SELECT score FROM item WHERE page id = %s” % page id
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P4 A

user based recommendation

rui =k Z: simil(u, u')ry ;

u'elU

item based recommendation
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o BT

 Map-reduce:

e simli][j] = sim score func(i, j)

e redis.set( “%s sim items” % i, sorted(scoreli]))
o TELREH

e redis.get( “%s sim items” % item id)
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o B
« Y = f(X)
« PRPREL Cost:
« cost(Y, g(X))
« DAL A
/MY cost

e fifi g BT f



PlasE

o MBS
e Y =X, WY =ax, +bx, +c
o HWIRKEL Cost:
« cost(Y, g(X)) , W (Y - g(x) )2
- fUALEIE A:
Be/ME cost
o RFEAE parameters: {a=3, b=4, c=2}

e ff gL £, g(x) =3x, + 4x, + 2

Yo fidr R/ WERK / W/ HhEe s ecE W e
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e 20074 NETFLIX

e $Imillion

Y = £f(X)

e rating = f(u, i)
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- ABIMERRE uid, iid, JiEvEsy
o BT BT A RLCIA % 1 ?
o HPHER. WHERFECEA I ?
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NTH EEZHRHME, 058 2058 B Les 2 2] 5 k5 2]

Y = f(X) = f(user info, item info, context,
. user history, item history,

. score, rank, similarity, --)
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« BEIUE ETSHURS:
o TCHONNGEIE, LR, £ worker BT
« for i in range (PASS NUMBER) :
e (@async
 for worker in workers:
« while(training instances = fetch training instances(instance count=100)):
e parameters grad = sgd(training instances).
e parameter server.update(parameters grad)
e parameters = dump result from parameter server ()
o TELRETH

« score = f(parameters, user features, item features, --*) // AT A parameterss
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« HER A
o BT AL AT, OB
o HMAL ERTE AT
o TRIHAFEAY . rank H[H
 item based / user based
o SEEEAME
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Rank. Score. Similarity

PSR 1 - S

WE WSO T SK

B R{EE (CNND)

. M ZF (embedding)

WV E R (word2vec)
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 Exploit vs Explore

o {EfAME vs ZFEVE vs HAI
P
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TRESERR: Bt FiELR
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Y = £(X)
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